



TO: COMPANY: PHONE:	262.524.3587					CONS	ULTANT: L:	Dick Benda <u>dick@halle</u>	ttmovers.com
EMAIL:	kjelacic@waukesha-wi.gov								
RE:	Waukasha Public Library					DATE	:	May 21st, 2	2021
<u>Main Move</u>	: Straight Time (Area #1)								
Relocation	of new collection and shelvir	ng. La	abel	ed as #1	on attachme	nt floorplan			
1	L Driver(s)	@	\$	87.00	p/h each for	8.00 hrs		\$	696.00
1	L Mover(s)	@	\$	83.00	p/h each for	8.00 hrs		\$	664.00
1	L Truck(s)	@	\$	51.00	p/h each for	8.00 hrs		\$	408.00
1	L Installer(s)	@	\$	118.00	p/h each for	8.00 hrs		\$	944.00
	Fuel Surcharge			10%	, D	408.0		\$	40.80
							Sub-total	\$	2,752.80
							Area #1	\$	2,752.80
NOTE: Trave	l Time Charges: 4 hours include	d ab	ove.						
Main Move	: Straight Time & Overtime (Area	· #2)						
Relocation	of fiction collection and shel	ving.	Lab	eled as a	#2 on attachn	nent floorpla	n. 1 day.		
1	L Driver(s)	@	\$	87.00	p/h each for	8.00 hrs		\$	696.00
5	5 Mover(s)	@	\$	83.00	p/h each for	8.00 hrs		\$	3,320.00
1	L Truck(s)	@	\$	51.00	p/h each for	8.00 hrs		\$	408.00
	Fuel Surcharge			10%		108 0		ć	10 80

Fuel Surcharge		10%	408.0		\$ 40.80
				Sub-total	\$ 4,464.80
1 Driver(s)	@	\$ 97.00 p/h each for	4.00 hrs		\$ 388.00
5 Mover(s)	@	\$ 93.00 p/h each for	4.00 hrs		\$ 1,860.00
1 Truck(s)	@	\$ 51.00 p/h each for	4.00 hrs		\$ 204.00
Fuel Surcharge		10%	204.0		\$ 20.40
				Sub-total	\$ 2,472.40
				Area #2	\$ 6,937.20

NOTE: Travel Time Charges: 4 hours included above.

Main Move: Straight Time & Overtime (Area #3)

Relocation of large print collection and shelving. Labeled as #3 on attachment floorplan. 1 day

7535 W. 59th Street, Summit, IL 60501 • phone (708) 458-8600 • fax (708) 458-7116

				Area #3	\$ 3,136.80
				Sub-total	\$ 3,136.80
Fuel Surcharge		10%	408.0		\$ 40.80
1 Truck(s)	@	\$ 51.00 p/h each for	8.00 hrs		\$ 408.00
3 Mover(s)	@	\$ 83.00 p/h each for	8.00 hrs		\$ 1,992.00
1 Driver(s)	@	\$ 87.00 p/h each for	8.00 hrs		\$ 696.00

NOTE: Travel Time Charges: 4 hours included above.

Main Move: Straight Time & Overtime (Area #4)

Relocation of media collection and shelving. Labeled as #4 on attachment floorplan. 1 day.

1 Driver(s) 5 Mover(s) 1 Truck(s)	@ @ @	\$ \$ \$	87.00 p/h each for 83.00 p/h each for 51.00 p/h each for	8.00 hrs 8.00 hrs 8.00 hrs		\$ \$ \$	696.00 3,320.00 408.00
Fuel Surcharge			10%	408.0		Ş	40.80
					Sub-total	\$	4,464.80
1 Driver(s)	@	\$	97.00 p/h each for	4.00 hrs		\$	388.00
5 Mover(s)	@	\$	93.00 p/h each for	4.00 hrs		\$	1,860.00
1 Truck(s)	@	\$	51.00 p/h each for	4.00 hrs		\$	204.00
Fuel Surcharge			10%	204.0		\$	20.40
					Sub-total	\$	2,472.40
					Area #4	\$	6,937.20

NOTE: Travel Time Charges: 4 hours included above.

Main Move: Straight Time & Overtime (Area #5)

Relocation of series collection and shelving. Labeled as #5 on attachment floorplan. 1 day.

				GI	RAND TOTAL	\$	23,650.80
					Sub-total	\$	750.00
Materials 1 Range Mover	@	\$	150.00 each day	5		\$	750.00
NOTE: Travel Time Charges: 4 hours in	cluded abo	ove.				·	,
					Area #5	\$	3,136.80
					Sub-total	\$	3,136.80
Fuel Surcharge			10%	408.0		\$	40.80
1 Truck(s)	@	\$	51.00 p/h each for	8.00 hrs		\$	408.00
3 Mover(s)	@	\$	83.00 p/h each for	8.00 hrs		\$	1,992.00
1 Driver(s)	@	\$	87.00 p/h each for	8.00 hrs		\$	696.00



RELOCATION AGREEMENT

This agreement is made and entered into Friday, March 19, 2010 by Hallett & Sons Expert Movers, Inc., hereinafter referred to as "Hallett Movers" and _____ hereinafter referred to as "Customer" for relocation services performed on an agreed upon date.

Recitals:

Hallett Movers charges for labor, equipment, materials, and related services necessary for the performance of relocation services as set forth in the relocation proposal. The total estimated charge for the relocation is **\$.00**. It is understood and agreed this estimate is based upon time and materials required to complete this relocation. Actual charges for the relocation may differ from the estimated charges and Customer agrees to be responsible for payment of actual charges.

Equipment Rental:

When it is necessary to leave equipment on site after the completion of the move or a phase of the move, Customer will be charged for equipment rental. Rental charges will begin on the day following the completion of the move. Rental charges are per diem and will include weekends and holidays and will continue until the materials are returned. In addition to rental charges, an hourly rate will be charged for the pickup of equipment.

Claims:

As a condition precedent to recovery, claims for damages arising out of loss or injury to customer's property in connection with this relocation must be filed in writing within 14 days after the completion of the move. It is the responsibility of Customer to maintain items without disposal or repair in order for any damage to be assessed by Hallett Movers. Additionally, all associated invoices relative to the project must be paid in full prior to the claim being satisfied. Failure to file a claim or maintain a claimed item will result in nullification of the claim and will relieve Hallett Movers of any and all liability with respect thereto and Customer will be barred from recovery against Hallett Movers. Customer must complete and sign an advice of coverage form which is attached.

Prepayment:

Customer shall prepay Hallett Movers (company check) an amount equal to 50% of the total estimated charge, which is equal to \$.00 upon signing of agreement. Full payment is due upon submission of the invoice.

Multiple Executions:

This agreement may be executed on multiple counterparts and each executed counterpart shall have the force and effect of an original.

By: <u>Relocation Consultant</u>

Hallett & Sons Expert Movers, Inc.

Date

By: _

Customer

Date

7535 W. 59th Street, Summit, IL 60501 • phone (708) 458-8600 • fax (708) 458-7116 Page 3 of 5



Advice of Coverage (Commercial)

Please initial one of the following cargo protection plans. *Failure to select options will automatically obligate you to option 1.*

1. Carrier's Released Liability:

_____ \$0.30 per pound, per article Initials

\$ No Charge

The carrier's released liability is the minimum liability. It is normally selected only when your company has its

own insurance coverage for damages incurred while goods are in transit.

2. Replacement Cost Protection:

Lump Sum Declaration of \$_____

initials

\$8.00 per thousand dollars of valuation (up to \$200,000.00)

Total charge = \$_____

3. Storage (if applicable):

Lump Sum Declaration of \$_____

initials

\$8.00 per thousand dollars of valuation (up to \$200,000.00)

Total charge = \$_____

Authorized Agent Signature

Company	
Signed	
Print Name	
Title	Date